Foundations of Algebra

Unit 6: Systems of Equations & Incqualitics

Graphing Systems of Equations

Two or more linear equations in the same variable lormm o system of equalions. A sohsion 10 a sysiem is o paw of
numbers g and b for which x = a and y = b o moke each equafion o rue siatement. A solufion is 0lso the point
where the two equations intersect eoch other on o groph.
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Foundations of Algebra Unit 6 Sysiems of Fquations & lecqualtees Noes
Solving a Linear System by Graphing
Step 1. Write each equation in siope intercept form [y = mx » b).
Step 2: Groph both equatiom in the same coordinate plone.
Step 3: Estimate the coordinotes of the point of intensecfion.
Step 4: Check whether the coordinates give 0 frue solution by subsi/ing them nto each
equation of the originai inear system. convert'
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Practice: Tell how many solutions the systems of equations has. If it has one solution, name the solution. = 2= =2, /
INFINITELY MANY iNE  (2,71) NONE
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Identify Solutions to a System from a Table

Remember, that the solution to a system of equations is where the two lines intersect each other. The point of
the intersection is the solution. The solution is where the x-value (input) produces the same y-value (output) for
both equations. Using the tables below, identify the solution.

a.
X y=-x |y=x-6
0 0 -6
e
Z 3 -3 -3 2
8 - 0
9 -9 3
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b.
X y=2x+4|y=4+2
= 0 -6
-1 2 -2
0 4 2
C 1 6 6 )
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